· Use the word in CAPITALS at the end of the  to form a word that 
fits in the gap IN THE SAME LINE. There is an example at the beginning (0).

There are two types of astronaut. Some are (0)…..COMMANDERS…. and        COMMAND
they fly the spacecraft. Others are specialists who conduct (1)SCIENTIFIC………………        SCIENCE
experiments of various kinds and repair damaged (2)……EQUIPMENT………….. .                   EQUIP
Astronauts must pass a lot of (3)……MEDICAL…………… tests and be qualified in a         MEDICINE
relevant subject. They have to be willing  to live in an (4)EXTREMELY………. small space    EXTREME
and work well in  a team. Experiments may go (5)DANGEROUSLY……………    wrong,                DANGER
threatening the (6)…SAFETY………….. of the astronauts.                                                    SAFE
The first British astronaut was, (7)…UNUSUALLY………. , a woman  - most astronauts         USUAL
are male. Helen Sharman got the job after hearing an announcement on 
the radio.There were 18,000 applicants and,(8)…LUCKILY……….for Helen,she was      LUCK
chosen. She said the most (9)…AMAZING…………….. thing for her was seeing the           AMAZE
Earth from 120 miles into space.  She  couldn't imagine a (10)……BETTER……..           GOOD
job.
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